NOTICE: ALL PARTS ARE TO BE INVENTORIED AND ANY SHORTAGES

REPORTED WITHIN 48 HOURS OF DELIVERY. SHORTAGES REPORTED
AFTER THIS TIME PERIOD WILL BE CHARGED TO THE CONTRACTOR.

69" POLE LENGTH

0
¥ p8ebs # o
i 4 CALL 800/369—6690 ASK FOR THE CONTRACTS DEPARTMENT
V1 JHAS -
a7 e o th o
1 Eﬂi\l 0.2 DRAWING LIST
rolik 1R i s¢, v [ FUTURE 10" THD V-BOOM WITH 3" STAND—OFF | MONOPOLE ERECTION 534118—-MM
° i N d .
;,'Q i ] 65'-0" AGL MONOPOLE FOUNDATION(S) g%i”g—pz
3 $ MONOPOLE FABRICATION 534118-01
S ¢z [ FUTURE 10° THD V-BOOM WITH 3’ STAND-OFF |
=) ¥ 550" AdL
L ez g |
$I=F |
49-0" ASL i s
5 £ LRI :
- [FUTURE 10°_ THD V-BOOM WTH 3 STAND—OFF | ACCESS PORT ® 3'-0”
50" AGL ORIENT POLE IN THE FIELD TO SUIT
180° (10)2 1/4"8 BOLTS
ON A 46 3/4"¢ B.C.
A
I
90° 0O 270°
%
n
&8 v WIND INDUCED VIBRATIONS, SUCH AS VORTEX SHEDDING AND HARMONIC OSCILLATION/RESONANCE, OF STRUCTURES OF ALL TYPES DUE TO
< i UNPREDICTABLE INTERACTION WITH WIND AND SURROUNDING STRUCTURES, EXPOSURE AND TERRAIN RARELY OCCUR. THE OWNER’S MAINTENANCE
3 ;;: 0° PROGRAM SHOULD INCLUDE OBSERVATIONS FOR VIBRATION AND ANY RESULTING LOOSENING OF CONNECTING HARDWARE OR DAMAGE TO THE STRUCTURE.
g2 ACCESS PORT @ 7'-0"
° =3 ORIENT POLE IN THE FIELD TO SUIT ANCHOR ROD INSTALLATION DETAIL
; ALL ANCHOR ROD NUTS (TOP & LEVELING NUTS) SHALL BE TIGHTENED TO A SNUG TIGHT CONDITION. TOP NUTS SHALL BE ROTATED,
2 WITH THE LEVELING NUT SECURED AN ADDITIONAL 1/3 TURN FOR ANCHOR RODS 1.5 INCHES OR LESS IN DIAMETER & AN ADDITIONAL
&€ 1/6 TURN FOR ANCHOR ROD DIAMETERS GREATER THAN 1.5 INCHES.
C%j:jj BOLT INSTALLATION DETAIIS
| 1. INSTALLATION OF BOLTS: BOLTS FOR TOWERS AND ANTENNAS SHALL BE INSTALLED WITH THE NUTS FACING TO THE OUTSIDE
| EXIT PORT AND/OR TO THE TOP OF THE TOWER, UNLESS PROHIBITED BY LACK OF CLEARANCE.
! L 2. TIGHTENING OF BOLTS: ALL HIGH STRENGTH BOLTS SHALL BE TIGHTENED TO A SNUG—TIGHT CONDITION, AS DEFINED BY AISC.
! o 3. NUT LOCKING DEVICE: ALL NUTS SHALL BE EQUIPPED WITH SOME TYPE OF NUT LOCKING DEVICE. SEE THE INDIVIDUAL DRAWINGS
| BOLT FOR FOR THE TYPE OF NUT LOCKING DEVICE TO BE USED FOR EACH INDIVIDUAL APPLICATION.
° NAME PLATE UNLESS OTHERWISE SPECIFIED | MATERIAL:
ALL DIMENSIONS INCLUDE
y ——— SABRE NAME PLATE| FINISHES AND ARE IN INCHES S f’l d t .. DW TOWER LLC
ANCHOR BOLTS |TOLERANCES: FRACTIONS + 1,16 abre inaus NES: WHISPER RIDGE, AZ
N ANGLES + 1/2 DEG.| TOLERANCES DO NOT INNOVATION DELIVERED
5 _@_ ECIMALS + .010" | APPLY TO RAW MATERIAL
g — CONFIDENTIAL
" LEVELING NUT This Document and the information 70.00 MONOPOLE
2 R E ETrae o s B ontatmed hertem flsstrge clorzjﬁd%r}tlal I’(rade
. . 3<~—CONCRETE secret property of Sabre Industries, Inc.,
Sz b e === FOUNDATION ( Sodbredp) ond must not be JoB 534118 SIZE DRAWING NO. REV
- : reproduced,” copied or used, in whole or in _
+|= pgyt, for'tg(n[;/ purpose twitrfwogt bthe DATE 12/19/23 B 034118—MM 0
POLE ELEVATION BASE INSTAILATION DSy arivten conseny of paore.)| DRAWN BY JKW SCALE PAGE
Rev| DATE [DRW[CHK DESCRIPTION e%grzvidsobre Industries, Inc. All rights CHECKED BY WJ 534118A N.T.S. 1 oF 1




—(10) — ANCHOR BOLTS 2 1/4”8 X 7’0"
(#18) AB15 GR. 75 OR EQUAL) ON A 46.75"8 B.C.

(10) — ANCHOR BOLTS 2 1/4”¢ X 7'—0" (#18J A615 GR. 75
OR EQUAL) W/(5) GALV. H.H.N. & (2) GALV. FW. EACH AT TOP

(23) #5 HORIZONTAL TIES @ 4” C/C
/ WITH TWO (2) WITHIN TOP 5" OF CONCRETE

REINFORCING STEEL SCHEDULE

REBAR DETAIL "A”

GENERAL NOTES:

1.

O~ WN

~N o

13

PIER TIE HOOK DETAIL

LOCATION  |NO REQD.| BAR SPC'G.| SIZE |CUT LGTH. |TOTAL LGTH| TOTAL WT. | SHAPE
PAD HORIZONTAL NOTED . .
o INEORCING 84 N DV, 49 19'-6” | 1638'—=0" | 5569 LBS. | STRAIGHT
PIER VERTICAL NOTED . . SEE REBAR
REINFORCING 34 ON DWG. # 8 -4 283 -4 964 LBS. | pEyalL "a”
NOTED ’ ” ) » z_d
PIER TIES 23 N DG, 45 22’0 506'—0 528 LBS. Q—_;, E
TOTAL REBAR WT.| 7061 LBS.
PIER TIES TO HAVE
. 20" OVERLAP OR 5 3/4"
— \O %HOOK AS SHOWN
i
“I
S | s
e
U U
6'-9" | | | VERTICAL
b REBAR

ALL ANCHOR BOLTS AND VERTICAL REINFORCING BARS ARE TO BE SECURELY TIED BEFORE
CONCRETE IS PLACED SO THEY WILL REMAIN PARALLEL TO THE CENTERLINE OF THE PIER.

IN ACCORDANCE WITH ACI 318-14.
. REINFORCING STEEL TO HAVE A 3" MINIMUM CONCRETE COVER.
. FOUNDATION DESIGN IS BASED ON THE GEOTECHNICAL REPORT BY VANN ENGINEERING,

PROJECT NO. 31197, DATED 10/20/2023
. ANCHOR BOLTS 2 1/4"¢ X 7'=0" (#18J A615 GR. 75 OR EQUAL) ON A 46.75"¢ BOLT CIRCLE (10 REQD).
. CONCRETE REQUIRED 34.12 CUBIC YARDS.
SEE THE GEOTECHNICAL REPORT FOR COMPACTION REQUIREMENTS, IF SPECIFIED.
. THE BOTTOM ANCHOR BOLT TEMPLATE SHALL BE POSITIONED AS CLOSELY AS POSSIBLE TO

THE BOTTOM OF THE ANCHOR BOLTS.
. 5.25 FT OF SOIL COVER IS REQUIRED OVER THE ENTIRE AREA OF THE FOUNDATION SLAB.
. DISTANCE BETWEEN CENTER OF ANCHOR BOLT CAGE & THE CENTER OF PIER NOT TO EXCEED
1/2" WITHOUT APPROVAL FROM ENGINEER OF RECORD.

. THE GROUND ELEVATION SHALL BE A MAXIMUM OF 6" BELOW THE TOP OF THE PIER.
. ALL EXPOSED CONCRETE CORNERS ARE TO BE CHAMFERED 3/4 INCH.
. ALL REINFORCING STEEL SHALL CONFORM TO ASTM A615 GRADE 60 DEFORMED BARS.
. CONCRETE SHALL HAVE A MINIMUM 28 DAY COMPRESSIVE STRENGTH OF 4500 PSI,

UNLESS OTHERWISE SPECIFIED
ALL DIMENSIONS INCLUDE
FINISHES AND ARE IN INCHES

TOLERANCES: FRACTIONS + 1/16”
ANGLES £ 1/2 DEG.
DECIMALS + .010"

MATERIAL:

TOLERANCES DO NOT APPLY

TO RAW MATERIAL

Sabre Industries’“)

INNOVATION DELIVERED

:
S
<
IS
:
= 3-6"_|_3-6"
7'-0"
10'-0" 10'-0”
20'-0"
PLAN VIEW
TEMPLATE
7 \_A . 4
= i il
© | |4
5| TTT—TTT—ITH B g | e
%E/ =1 |:m:l l:m:| =
S I
4
:N'j ™~ L 5
‘01 (34) #9 VERTICAL > o
REBAR EVENLY o
SPACED §
L
TEMPLATE @
. AL i
2 D |
e— o —® :i:. —_— c:i: - — % —e ™~
>
o g e e ° e e _e __ e
| |
£-(21) #9 HORIZONTAL REBAR 3 Typ
EVENLY SPACED EACH WAY '

TOP & BOT. (84) TOTAL
ELEVATION VIEW

REV]

DATE

DRW|

CHK

DESCRIPTION

reserved.

CONFIDENTIAL
This document and the information
contained herein is the confidential trade
secret property of Sabre Industries, Inc.
("Sabre”) and must not be reproduced,
copied or used, in whole or in part, for
any purpose without the prior written
consent of Sabre.
© 2023 Sabre Industries, Inc. All rights

DW TOWER LLC
WHISPER RIDGE, AZ
70.00 MONOPOLE

JOB NO. 534118 SIZE DRAWING NO. REV
DATE 12/19/23 | B 534118—F1 0
DRAWN BY JKW SCALE PAGE
CHECKED BY wJd None 1 OF 1




(10) — ANCHOR BOLTS 2 1/4%¢ X 7'—0”
(#18J AB15 GR. 75 OR EQUAL) ON A 46.75"¢ B.C.

(10) — ANCHOR BOLTS 2 1/4”¢ X 7'—0" (#18J A615 GR. 75
OR EQUAL) W/(5) GALV. HHN & (2) GALV. FW. EACH AT TOP

PLAN VIEW
TEMPLATE
5 1 1 (35) #5 HORIZONTAL TIES @ 8" C/C
. - - WITH TWO (2) WITHIN TOP 5" OF CONCRETE
- | |
— '/ ©
5| T 11T T T—TTT—TTT
=== — =HIE =
S = Rl
i
o S
TEmPLATE— " ¥
] |
L 3w
(34) #9 VERTICAL o

REBAR EVENLY SPACED

TYP.

REINFORCING STEEL SCHEDULE
LOCATION  |NO REQD.| BAR SPC'G.| SIZE |CUT LGTH|TOTAL LGTH| TOTAL WT. | SHAPE
FIER VERTICAL NOTED T N
REINFORCING 34 ON DG, 49 | 200" | 748'-0" | 2543 LBS. | STRAIGHT
NOTED R T ==
PIER TIES 35 N DV, #5 | 22-0" | 770'-0 803 LBS. O«_“.D E
TOTAL REBAR WT.| 3346 LBS.

PIER TIES TO HAVE
20" OVERLAP OR 5 3/4

70" HOOK AS SHOWN

| VERTICAL
! REBAR

PIER TIE HOOK DETAIL

GENERAL NOTES:

1.

O~ WEN

~N

1.

12

ALL ANCHOR BOLTS AND VERTICAL REINFORCING BARS ARE TO BE SECURELY TIED BEFORE
CONCRETE IS PLACED SO THEY WILL REMAIN PARALLEL TO THE CENTERLINE OF THE PIER.

. THE GROUND ELEVATION SHALL BE A MAXIMUM OF 6” BELOW THE TOP OF THE PIER.
. ALL EXPOSED CONCRETE CORNERS ARE TO BE CHAMFERED 3/4 INCH.

. ALL REINFORCING STEEL SHALL CONFORM TO ASTM A615 GRADE 60 DEFORMED BARS.
. CONCRETE SHALL HAVE A MINIMUM 28 DAY COMPRESSIVE STRENGTH OF 4500 PSI,

IN ACCORDANCE WITH ACI 318-14.

. REINFORCING STEEL TO HAVE A 3" MINIMUM CONCRETE COVER.
. FOUNDATION DESIGN IS BASED ON THE GEOTECHNICAL REPORT BY VANN ENGINEERING,

PROJECT NO. 31197, DATED 10/20/2023
ANCHOR BOLTS 2 1/4"¢ X 7-0" (#18J AB15 GR. 75 OR EQUAL) ON A 46.75"¢ BOLT CIRCLE (10 REQ'D).

. CONCRETE REQUIRED 32.07 CUBIC YARDS.
10.

SEE THE GEOTECHNICAL REPORT FOR DRILLED PIER INSTALLATION REQUIREMENTS, IF SPECIFIED.
THE BOTTOM ANCHOR BOLT TEMPLATE SHALL BE POSITIONED AS CLOSELY AS POSSIBLE TO
THE BOTTOM OF THE ANCHOR BOLTS.

. DISTANCE BETWEEN CENTER OF ANCHOR BOLT CAGE & THE CENTER OF PIER NOT TO EXCEED
1/2" WITHOUT APPROVAL FROM ENGINEER OF RECORD.

UNLESS OTHERWISE SPECIFIED

ALL DIMENSIONS INCLUDE

FINISHES AND ARE IN INCHES
TOLERANCES: FRACTIONS + 1/16”"

ANGLES + 1/2 DEG.
DECIMALS + .010"

MATERIAL:

TOLERANCES DO NOT APPLY

TO RAW MATERIAL

DW TOWER LLC
WHISPER RIDGE, AZ

Sabre Industries’“)
INNOVATION DELIVERED

CONFIDENTIAL 70.00 MONOPOLE

This document and the information

7a_0”¢

ELEVATION VIEW

contained herein is the confidential trade

REV]

DATE

DRW|CHK

DESCRIPTION

secret property of Sabre Industries, Inc.

("Sabre”) and must not be reproduced, JOB NO. 534118 SIZE DRAWING NO. REV
copied or used, in whole or in part, for _

any purpose without the prior written DATE 12/19/23 B 584118 F2 O
consent of Sabre. DRAWN BY JKW

© 2023 Sabre Industries, Inc. All rights SCALE PAGE
reserved. CHECKED BY WJ None 1 OF1




= BOTTOM OF SECTION TO STAND OFF BRACKET

ft'—in”

= C-LINE OF BUSS BAR LUG

69° MONOPOLE

TUBE 1/4” x 23.58 x 16.00 x 21'-0”

-—|m '/—( :) 6" X 12" PORT ON FLAT 4, 10, 16
Bmﬁ UP 64 FROM BOTTOM OF POLE

g (4) 6" X 12" PORT ON FLAT 4, 10, 16
UP 54 FROM BOTTOM OF POLE
¥
e
&
]

vy }———(© & X 12" PORT ON FLAT 4, 10, 16
B‘M UP 44’ FROM BOTTOM OF POLE

37-0" (19) 8" X 12" PORT ON PT. 5-6, 14-15
1 UP 32’ FROM BOTTOM OF POLE
n
fr
>
]
s
>
3 @\
o
<~
x
©
S
['s)
[T
[aa}
2

/—@10' X 25" PORT ON PT.14-15
7T | UP 7' FROM BOTTOM OF POLE
— m 10° X 25" PORT ON FLAT 10, 1
LJ UP 3 FROM BOTTOM OF POLE
— —— T—— 1
90" 270°
(FLAT)  (FLAT)  (FLAT)
(5-6) (1) (14=15)

POLE ELEVATION

180"
g 1P 1
1
7 1
6 1
9 270
5 1
4 16,
3 1%
) 18

|~ ACGESS PORT
COVER

KELLUM HOOK (SEE
MATERIAL DESC.)

(SEE PART DWG.

FOR HOOK PLACEMENT)

J-BOLT

1 1/2" HANDHOLE
2" EXIT PORT

1/2" RAD.

ACCESS PORT DETAIL

WELD TO POLE 1'-6" FROM BASE

o ON FLATS 4, 10, & 16.

GROUND LUG ANGLE WELD

7/16"® HOLE—"]

2 124' 2 154"
\ \

.4 ), [~~—7/16"¢ HOLE

i

THIS SIDE WELDED TO POLE/

@ MARK: MWS00004

18 —SIDED POLE LIST OF MATERIAL TAPER= .3610 IN/FT
ITEM | QTY MARK_NO. DESCRIPTION MATERIAL | WEIGHT
1 1] 534118-0110 TUBE 1/4” x 23.58 x 16.00 x 21'-0" A572-65 1105
2 1] UID05 ID TAG 1/4” x 2 x 05 3/4 A572-65 1
3 1] 534118-5002 | TOP COVER PLATE A-36 -
4 6] C30138101 ACCESS PORT (6" X 12° X 3 1/2° X 5/8") WITH 2 HOOKS __ |A-500-C 123
5 4] 40001553 1"-8 HEAVY HEX JACKING NUT A-563 4
ASSEMBLY WEIGHT: 1235
6 1] 534118-0120  [TUBE 5/16” x 40.41 x 21.91 x 51'-3" A572-65 5325
7 1] UID05 ID TAG 1/4” x 2° x 0-5 3/4" A572-65 1
8 1] 534118-5001 BASE PLATE 2" x_ 52.50" ROUND A572-50 850
9 | 1 #t| L770016 FLAT 1/4” x 1 1/2" A588 14
4 3| c3o138101 ACCESS PORT (6" X 12° X 3 1/2° X 5/8") WTH 2 HOOKS __ |A-500-C 62
10 2| c30138104 ACCESS PORT (8" X 12° X 3 1/2° X 5/8") WITH 2 HOOKS __ |A-500-C 46
11 3| 30138005 ACCESS PORT (10 1/2° X 25 1/2" X 4° X 3/4") WITHOUT HOOKS |A-572-65 165
5| 4| c40001553 1"-8 HEAVY HEX JACKING NUT A-563 4
12 3| MwS00004 GROUND LUG ANGLE A-36 3
ASSEMBLY WEIGHT: 6469
STRUCTURE BLACK WEIGHT: 7704
SHIP_LOOSE MISC.
13 9] C30136002 6.5" X 12.5° X 0.1875PL ACCESS COVER (GALV) A-36 46
14 2| c30136003 85" X 12.5° X 0.1875PL ACCESS COVER (GALV) A—36 13
15 3| c30136001 11.0" X 26.0° X 0.1875PL_ACCESS COVER (GALV) A-36 49
16 1| Cc40068001 130z CAN of COLD GALV SPRAY — 1
17 1|_cs00500 NAME_PLATE — 1
NOTE:
SECTION ID TAG NUMBER TO MATCH TUBE MARK NO.
1 ]
LONGSEAM \ I 18.000 | 1?? 2 5/8% HOLES
10" TUBE WAL 446" ON CENTER
52.5000"
90— — 2
2.625”DIA
(2) REQ
28.000" DIA.
Vi f X NOTE:
1/4" X 1-1/2" A588 REFER TO DRAWING 9029280 FOR
. 1/~ BACKING BAR MONOPOLE LONGSEAM WELD DETAILS.
7 /)
c.P.
/ Rl
N WASHER
N
= %—|EVELING NUT
% ACCESS PORT DATA TABLE
0° ITEM| PART NUMBER| WIDTH | HEIGHT | DEPTH | THICK | MATERIAL SPEC
@ BASE PLATE DETAIL HAND HOLES T oo | & | 7 |31/ | 578 | As00-c
TYPICAL ORIENTATION 10 | C30138104 8" 12" 31/2" | 5/8" | A-500-C
11| cao3s005 [101/2" [251/2°| 4 3/4 | A-572-65
UNLESS OTHERWISE SPECIFIED | MATERIAL:

ALL DIMENSIONS INCLUDE
FINISHES AND ARE IN INCHES

TOLERANCES: FRACTIONS + 1/16”
ANGLES * 1/2 DEG.| TOLERANCES DO NOT
ECIMALS + .010" | APPLY TO RAW MATERIAL

Saﬁeylndustries")

INNOVATION DELIVERED

CONFIDENTIAL

Information contained herein is the sole

property of

Rev| DATE |DRW|CHK DESCRIPTION

Sabre Communications
Corporation, constitutes a trade secret
as defined by lowa Code Ch. 550 and JOB
shall not be reproduced, copied or used[parg
in whole or in part for any purpose
whatsoever without prior written consent| DRAWN BY
of Sabre Communications Corporation.

DW TOWER LLC
WHISPER RIDGE, AZ

70.00 MONOPOLE

534118 SIZE DRAWING NO. REV
=2/18/23] B3 534118—-01 0
JKW SCALE PAGE
CHECKED BY| WJ N.T.S. 1 o




